1. Two Sum

Given an array of integers nums and an integer target, return indices of the two numbers
such that they add up to target.

You may assume that each input would have exactly one solution, and you may not
use the same element twice.

You can return the answer in any order.

Example 1:

Input: nums = [2,7,11,15], target = 9

Output: [0,1]

Explanation: Because nums[0] + nums[1] == 9, we return [0, 1].

2. Matrix addition
Matrix addition involves adding two matrices element by element. This operation is only valid if
both matrices have the same dimensions.

Input: Gven two matrices A[i][j] and BJi][j] .

Output: Compute: C[i][j]=A[i][j]+BI[il[j]

Example:

Let the number of rows and columns of matrix be : 2 2
The elements of the A[i][j]:

12

34

The elements of the BJi][j]:

56

78

Resultant matrix C[i][j] after addition:
6 8
1012

3. Valid palindrome
A phrase is a palindrome if, after converting all uppercase letters into lowercase letters it
reads the same forward and backward.

Given a string s, return true if it is a palindrome, or false otherwise.

Input: string s= “madam”
Output : true

Input: string s= “hello”
Output : false



4. Check If Two String Arrays are Equivalent
Given two string arrays word1 and word2, return true if the two arrays represent the same
string, and false otherwise.

A string is represented by an array if the array elements concatenated in order forms the
string.

Example 1:
Input :
wordl = {"ab", "c"} word2={"a", "bc"}

Output: True The string arrays are equivalent.
Example 2:

Input: wordl =["a", "cb"], word2 =["ab", "c"]
Output: false . The string arrays are not equivalent

5. String Concatenation and String Length:

Input two strings s1 and s2. Concatenate two strings using strcat() and calculate the length
of a string without using strlen().

6. Remove duplicates from sorted array
Given an integer array nums and an integer val, remove all occurrences of val in nums
in-place. The order of the elements may be changed. Then return the number of elements
in nums which are not equal to val.

Consider the number of elements in nums which are not equal to val be k, to get accepted,
you need to do the following things:

Change the array nums such that the first k elements of nums contain the elements which
are not equal to val. The remaining elements of nums are not important as well as the size
of nums.

Return k.

Example:

Input: nums =[0,0,1,1,1,2,2,3,3,4]
Output: 5, nums =[0,1,2,3,4, , , , , ]

Explanation: Your function should return k = 5, with the first five elements of nums being
0, 1, 2, 3, and 4 respectively.

It does not matter what you leave beyond the returned k (hence they are underscores).

7. Find First and Last Position of an Element in Sorted Array



Given an array of integers nums sorted in non-decreasing order, find the starting and
ending position of a given target value.

If target is not found in the array, return [-1, -1].

Example 1:
Input: nums =1[5,7,7,8,8,10], target = 8
Output: [3,4]

Example 2:
Input: nums =1[5,7,7,8,8,10], target = 6
Output: [-1,-1]

Matrix multiplication

Matrix multiplication involves multiplying two matrices. This operation is valid only when the
number of columns in the first matrix equals the number of rows in the second matrix.
Example:

Input: Matrix A (2x3):

123

456

Matrix B (3 x 2):

7 8

9 10

1112

Output:
Resultant matrix after multiplication:
58 64
139 154

Remove element

Given an integer array nums and an integer val, remove all occurrences of val in nums in-
place. The order of the elements may be changed. Then return the number of elements in
nums which are not equal to val.

Consider the number of elements in nums which are not equal to val be k, to get accepted,
you need to do the following things:

Change the array nums such that the first k elements of nums contain the elements which
are not equal to val. The remaining elements of nums are not important as well as the size
of nums.
Return k.

Example:

Input: nums =1[0,1,2,2,3,0,4,2], val = 2
Output: 5, nums =1[0,1,4,0,3, , , |



Explanation: Your function should return k = 5, with the first five elements of nums
containing 0, 0, 1, 3, and 4.
Note that the five elements can be returned in any order.

10. Plus one
You are given a large integer represented as an integer array digits, where each digits]i]
is the ith digit of the integer. The digits are ordered from most significant to least significant
in left-to-right order. The large integer does not contain any leading O's.
Increment the large integer by one and return the resulting array of digits.
Example:

Input: digits = [1,2,3]

Output: [1,2,4]

Explanation: The array represents the integer 123.
Incrementing by one gives 123 + 1 = 124.

Thus, the result should be [1,2,4].

11. Find the maximum and minimum element in an array.
You are given an integer array, where each digit of the array is an integer. The digits are
ordered from most significant to least significant in left-to-right order.

Print the largest and smallest element n the array
Example:

Input: Thearray=13,1,4,1,5,9, 2, 6, 5]
Output : Maximum = [9] Minimum = [1]

12. Calculate the sum of all elements in an array.

Initialize an array variable. A variable will hold the sum of the elements of an array.For
each element in the array, add it to sum where sum will contain the total sum of the
elements.

Example:
Input : The array =4, 5,9, 1, 6, 5]
Output : Sum = 30

13. Reverse an array.
Use two variables. One starts at the beginning (left = 0). The other starts at the end (right
=n - 1). Swap the elements at these two pointers using a temporary variable. Move the
pointers closer to the center: Increment left. Decrement right. Stop when the pointers meet
Or Cross.

Example:
Original array: [1 2 3 4 5]
Reversed array: [54 3 2 1]

14. Search Insert Position



15.

16.

17.

Given a sorted array of distinct integers and a target value, return the index if the target is
found. If not, return the index where it would be if it were inserted in order.

Example 1:

Input: nums =[1,3,5,6], target = 2
Output: 1

Example 2:

Input: nums =[1,3,5,6], target =7
Output: 4

Pascal's Triangle
Given an integer numRows, return the first numRows of Pascal's triangle.

Example:
Input : 5 as the numRows
Output: In Pascal's triangle, each number is the sum of the two numbers directly above it
as shown:
1

11

121
1331
14641

Isomorphic Strings

Given two strings s and t, determine if they are isomorphic.

Two strings s and t are isomorphic if the characters in s can be replaced to get t.

All occurrences of a character must be replaced with another character while preserving
the order of characters. No two characters may map to the same character, but a character
may map to itself.

Example 1:

Input: s ="egg", t = "add"

Output: true

Explanation:

The strings s and t can be made identical by: Mapping 'e' to 'a’. Mapping 'g' to 'd'.
Example 2:

Input: s ="foo", t = "bar"

Output: false

Valid Anagram

Given two strings s and t, return true if t is an anagram of s, and false otherwise.
Example 1:

Input: s = "anagram”, t = "nagaram"



18.

19.

Output: true

Example 2:

Input: s ="rat", t = "car"
Output: false

Find Pivot Index

Given an array of integers nums, calculate the pivot index of this array.

The pivot index is the index where the sum of all the numbers strictly to the left of the
index is equal to the sum of all the numbers strictly to the index's right.

If the index is on the left edge of the array, then the left sum is O because there are no
elements to the left. This also applies to the right edge of the array.

Return the leftmost pivot index. If no such index exists, return -1.
Example 1:

Input: nums =[1,7,3,6,5,6]

Output: 3

Explanation:

The pivot index is 3.

Left sum = nums[0] + nums[1] + nums[2]=1+7 +3 =11

Right sum = nums[4] + nums[5]=5+6 =11

Example 2:

Input: nums =[1,2,3]

Output: -1

Explanation:

There is no index that satisfies the conditions in the problem statement.
Largest Number At Least Twice of Others

You are given an integer array nums where the largest integer is unique.

Determine whether the largest element in the array is at least twice as much as every
other number in the array. If it is, return the index of the largest element, or return -
1 otherwise.

Example 1:
Input: nums =[3,6,1,0]
Output: 1

Explanation: 6 is the largest integer.


https://leetcode.com/problems/find-pivot-index/

20.

21.

22.

23.

For every other number in the array x, 6 is at least twice as big as x.
The index of value 6 is 1, so we return 1.

Example 2:

Input: nums =11,2,3,4]

Output: -1

Explanation: 4 is less than twice the value of 3, so we return -1.
Max Consecutive Ones

Given a binary array nums, return the maximum number of consecutive 1's in the array.
Example 1:

Input: nums =[1,1,0,1,1,1]

Output: 3

Explanation: The first two digits or the last three digits are consecutive 1s. The maximum
number of consecutive 1s is 3.

Example 2:

Input: nums =[1,0,1,1,0,1]

Reverse String

Write a function that reverses a string. The input string is given as an array of characters s.

You must do this by modifying the input array in-place with O(1) extra memory.

Example 1:

Input: s =["h","e","I","I","0"]
Output: ["o","I","I","e","h"]
Example 2:

Input: s = [H","a""n"n" & ']
Output: ['h","a","n","n","a","H'Y
To Lower Case

Given a string s, return the string after replacing every uppercase letter with the same
lowercase letter.

Example 1:
Input: s = "Hello"
Output: "hello"

First Unique Character in a String


https://en.wikipedia.org/wiki/In-place_algorithm

Given a string s, find the first non-repeating character in it and return its index. If it does
not exist, return -1.

Example 1:

Input: s = "leetcode”

Output: 0

Explanation:

The character 'I' at index 0 is the first character that does not occur at any other index.
Example 2:

Input: s = "loveleetcode"

Output: 2

Example 3:

Input: s = "aabb"

Output: -1

24. Palindrome Number
Given an integer x, return true if X is a palindrome, and false otherwise.
Example 1:
Input: x =121
Output: true
Explanation: 121 reads as 121 from left to right and from right to left.
Example 2:
Input: x =-121
Output: false

Explanation: From left to right, it reads -121. From right to left, it becomes 121-. Therefore
it is not a palindrome.

25. Power of Two
Given an integer n, return true if it is a power of two. Otherwise, return false.
An integer n is a power of two, if there exists an integer x such that n == 2%,
Example 1:

Input: n=1



Output: true
Explanation: 2°=1
Example 2:

Input: n=16
Output: true
Explanation: 2% = 16
Example 3:

Input: n=3

Output: false

26. Sqrt(x)

27.

Given a non-negative integer x, return the square root of x rounded down to the nearest
integer. The returned integer should be non-negative as well.

You must not use any built-in exponent function or operator.
For example, do not use pow(x, 0.5) in c++ or x ** 0.5 in python.
Example 1:

Input: x=4

Output: 2

Explanation: The square root of 4 is 2, so we return 2.

Add Digits

Given an integer num, repeatedly add all its digits until the result has only one digit, and
return it.

Example 1:

Input: num = 38

Output: 2

Explanation: The process is
38-->3+8-->11
11->1+1-->2

Since 2 has only one digit, return it.
Example 2:

Input: num=0

Output: O



28. Fizz Buzz
Given an integer n, return a string array answer (1-indexed) where:
answer[i] == "FizzBuzz" if i is divisible by 3 and 5.
answer[i] == "Fizz" if i is divisible by 3.
answer[i] == "Buzz" if i is divisible by 5.

answer[i] == i (as a string) if none of the above conditions are true.

Example 1:

Input: n=3

Output: ['1","2","Fizz"]

Example 2:

Input: n=5

Output: ['1","2","Fizz","4","Buzz"]

Example 3:
Input: n=15
Output:

['1""2""Fizz","4","Buzz","Fizz","7","8","Fizz","Buzz","11","Fizz","13","14" "FizzBuzz"]

29. Hamming Distance

The Hamming distance between two integers is the number of positions at which the
corresponding bits are different.

Given two integers x and y, return the Hamming distance between them.

Example 1:
Input: x=1,y=4
Output: 2
Explanation:
1 (0001)
4 (0100

T

The above arrows point to positions where the corresponding bits are different.


https://en.wikipedia.org/wiki/Hamming_distance

Example 2:
Input: x=3,y=1
Output: 1

30. Check If It Is a Straight Line

You are given an array coordinates, coordinates[i] = [x, y], where [x, y] represents the
coordinate of a point. Check if these points make a straight line in the XY plane.

Example 1:

A

y

(6.7)

X

»
>

Input: coordinates = [[1,2],[2,3],[3,4],[4,5],[5,6],[6,7]]

Output: true



